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SECTION — A

Answer alj Questions. Each carries
1. The valye of b '
as

3. Excess of actug] loss over normal loss jg called
4. Work-in-prog_ress is shown on

Side of balance sheet of Contractor.

(4x1%=2)
SECTION - g
Answer any four Questions. Each

5. What is Cost centre 7
6. What is VED analysijs ?

carries one mark.

7. What is Over absorption of Overheads ?
8. What ig €Scalation Clause ?
9. What is motion Study ?

10. How abnormg| gain is treateq in process accounts ?

P.T.0.



16.

17.

The foiiowing information has been Obtained from costing records of Excel Ltg
or the month of July 2015

' 15t July 2015 (Rs.) 31st July 2015 (Rs,)
Cost of raw Mmaterials 7,500 9,000
Cost of work in progress 3,500 4,000
Cost of finished goods in stock 14,000 17,000
Manufacturing wages - 19,000
Manufacturing eXpenses ( Faotory OH) ~ 9,000
Office €xpenses - 6,000
Purchase of raw materia|s - 60,000
Selling ang distribution eéxpenses - 4,000
Sales 1,10,000

p

A Company yseg annually 50000 units of an item each costing Rs. 1.20. Each
order cost Rg. 45 and inventory carrying cost 15% of the annual average
inventory value :

a) Find EOQ.

b) If the Company Operates 250 days a year the procurement time is 10 days
and safety Stock is 500 units, fing reorder level, maximum, minimum ang
average inventory.

Calculate the €arnings of Workers A and B under Straight Piece-rate System
and Taylor's Differentia| Piece-rate System from the foiiowing particulars -

Normal rate per hour = Rg. 1.80

Standard time per unit = 20 seconds

Differentialg to be applieq -

80% of pieoe rate below Standard

120% of Piece rate gt Or above Standard

Worker A Produces 1300 units per day and Worker B Produces 1500 units per
ay.
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18. Compute Machine Hoyr Rate for the foHowing Mmachine the SCrap value of which
is estimateq to be Rs. 2,000.

Cost of Machine Rs. 60,000
Freight ang installation Charges Rs. 8,000
Working life of the machine 10 Years
Wo.r.king hours 2,200 per year

Lubra’oating oifat Rs. 2 per day of 8 hours
Consumable Stores at Rs. g per day of 8 hours

Salary of foreman (1/4% of the machine - 2 640 per annum
Power - 10 units per hoyr at 10 paisa per unit

Repair charges 509, depreciation. (6x3=18)

Process X Process Y Process Z

Rs. Rs. Rs.
Raw materig used 6,000 4,000 2,000
Direct Laboyr 8,000 6,000 3,000
Manufacturing €xpenses 1,000 1,000 1,500
Scrap 2% 5% 10%
Sale price per 100 units 5 5 20

Units Units Units
Output of each process 19500 18800 16000

20000 units have been issued to Process ‘x’ at a cost of Rs. 10,000,

20. A firm of building Contractors began to trade on 1st January 2014, During the
year the CoOmpany was engaged in only one Contract. The contract price was
5,00,000.
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Charge 10% depreciation on plant, carry forward by way of reserve one-third
of the profit received and compile the contract account and the Balance Sheet
from the following trial balance on December 31st 2014,

Debit Credit

Share Capital - 1,20,000
Creditors - 10,000
Land and Buildings 43,000 -
Cash at Bank 25,000 -
Charged to Contract Account - .

Materials 90,000 -
Plant 25,000 -
Wages 1,40,000 -
Expenses 7,000 —
Cash received from the contractee

(being 80% of work certified) = 2,00,000

3,30,000 3,30,000

21. Following is an extract. of the record of receipts and issyes of Sulphur in a

chemical factory during February, 2011.

Feb. 1 Opening balance 500 tonnes @ 200

Feb. 3 Issue : 70 tonnes

Feb. 4 Issue : 100 tonnes

Feb. 8 Issue : 80 tonnes

Feb. 13 Received from Supplier 200 tonnes @ 190

Feb. 14 Returned from department 15 tonnes

Feb. 16  Issue - 180 tonnes

Feb. 20 Received from Supplier 240 tonnes @ 190

Feb. 24 Issye - 300 tonnes

Feb. 25 Received from Supplier 320 tonnes @ 190

Feb. 26 Issye - 115 tonnes

Feb. 27  Returned from department 35 tonnes

Feb. 28 Received from Supplier 100 tonnes @ 190

Issues are to be priced on the principal of “FIFQ”. The stock verifier had found
shortage of 10 tonnes on the 22nd and left note accordingly. Prepare Stores
Ledger Account. (8x2=16)



